Exercice 7.1 :

Donnez sous forme de fraction irréductible :
_9,, 455215370943
4 56 "3 36 276 2 5 4

(Squtions:A%Z B:% C:%g? )

Exercice 7.2 :
Donnez sous forme de fraction irréductible :
17 99 4 5 7 1 1

7
A=g-gt g BI3*t3g*t3 C=8+93-§

e a2l 5 49 (31
(Squtlons.A—10 B—18 C—2 )

Exercice 7.3 :
Donnez sous forme de fraction irréductible :

Exercice 7.4 :
Donnez sous forme de fraction irréductible :

9 7 8 7 3 9 8 7 2 1
A=2+g+3+3B=522-5 C5+g 92
(Solutions : A—is5 B:%9 Cz% )

Exercice 7.5 :
Donnez sous forme de fraction irréductible :

8 7 9 3 7 1 7 7 7 1
A=3-32 2 B=4+3-3-3C%66 273

e - o )
(Squtlons.A—l2 B—3 C—4 )

Exercice 7.6 :
Donnez sous forme de fraction irréductible :

Exercice 8.1 :
Donnez sous forme de fraction irréductible :

7 7 4 6 7 9 1 1 3 9
A=3+5t3t5B g3t C=3+-3%
(Squtions:A%‘c':)l B:% C=6 )

Exercice 8.2 :

Donnez sous forme de fraction irréductible :

12,95, ,.237.3347
63 276 57472 472376

Exercice 8.3 :
Donnez sous forme de fraction irréductible :

_8 457 5589 _ 3574 _7855_,1251_ 59093 _58,15,7973.85109
5796 3°736 3 2~"2 6 6 3 "6 3 6 37396 43422 "6 3 56 6 26 4796 2 2
(Solutions : A% B:% Cz% ) (Solutions : A% B:% Cz%’ ) (Solutions : A% B:S C:%)’
Exercice 8.4 : Exercice 9.1 : Exercice 9.4 :
Donnez sous forme de fraction irréductible : Donnez sous forme de fraction irréductible : Donnez sous forme de fraction irréductible :

7 5 5 7 2 5 5 3 7 3 5 4 5 1 9 7 8 9 7 7 1 3 3 1317 5 5 8 7 7 5 5 9
A=3-6+5+5B 637516 =143 5 A=6*9*t6 2B 58 574 C5g—8 82 A=2+8 2 8B3%"3%'5 5 C 66768
(Solutions : A% B=% C=§ ) (Solutions : A% B=% C=% ) (Solutions : A% B=%3 C=2—2 )

Exercice 8.5 : Exercice 9.2 : Exercice 9.5 :
Donnez sous forme de fraction irréductible : Donnez sous forme de fraction irréductible : Donnez sous forme de fraction irréductible :
9 9 1 5 4 7 7 1 3 5 4 5 1 5 5 6 2 5 7 3 7 7 2 5 7 7 1 7 5 5 9
=27276+7B3%5-976 6 272" A=3-6+3+gB=5—65*t3 C5gtpt2*6 A=3%3%9%6B 3767876 6" 164
(Solutions : A=1 B% Cz% ) (Solutions : A_._gg B:i—% Cz% ) (Solutions : A% B:_—Sl Cz? )
Exercice 8.6 : Exercice 9.3 : Exercice 9.6 :
Donnez sous forme de fraction irréductible : Donnez sous forme de fraction irréductible : Donnez sous forme de fraction irréductible :

7 9 7 5 _ 4 1 7 5 1 7 9 2 7 1 6 55 1 1 1 3 2 4 9 9 9 7 7 7 1 8 6

A=gto*tteB3-3-97 Csg*3+3*y A=5+3%3 9B 5-55*2 G526+ A=3-378%3 Bg*gts- 2 Cg475%5

.59 | -181 59
(Squtlons.A—8 B= 12 C—12

S £ S S
(Squtlons.A—18 B—30 c=7 )

oAl 1 137
(Squtlons.A—24 B= 5 C= 20




